

فرض شده است

① برای فونیکس $f(x) = x$ ، داریم $0, 2\pi$ و 2π باید.

$$T = 2\pi - 0 = 2\pi$$

$$a_0 = \frac{1}{T} \int_0^{2\pi} f(x) dx = \frac{1}{2\pi} \int_0^{2\pi} x dx$$

$$= \frac{1}{2\pi} \left[\frac{x^2}{2} \right]_0^{2\pi} = \frac{1}{2\pi} \left(\frac{(2\pi)^2}{2} \right)$$

$$= \frac{2\pi}{2} = \pi$$

$$a_n = \frac{1}{T} \int_0^{2\pi} f(x) \cos \frac{2\pi n}{T} x dx$$

$$= \frac{1}{2\pi} \int_0^{2\pi} x \cos \frac{2\pi n}{2\pi} x dx$$

$$= \frac{1}{2\pi} \int_0^{2\pi} x \cos nx dx$$

$$= \frac{1}{2\pi} \left(\frac{x \sin nx}{n} + \frac{\cos nx}{n^2} \right)_0^{2\pi}$$

+	x	$\cos nx$
-	1	$\frac{\sin nx}{n}$
+	0	$-\frac{\cos nx}{n^2}$

$$= \frac{1}{\pi} \left[\left(\frac{\cancel{\pi \pi \sin \pi n}}{n} + \frac{\cancel{\cos \pi n}}{n^2} \right) - \left(\frac{\cancel{\cos 0}}{n^2} \right) \right]$$

$$= \frac{1}{\pi} \left(\frac{1}{n^2} - \frac{1}{n^2} \right) = 0$$

$$b_n = \frac{\pi}{T} \int_0^T f(x) \sin \frac{\pi n x}{T} dx$$

$$= \frac{\pi}{\pi \pi} \int_0^{\pi} a \sin \frac{\pi n x}{\pi} dx$$

مشتق
ابتداء

$$= \frac{1}{\pi} \int_0^{\pi} a \sin nx dx$$

+ a	sin nx
- 1	$-\frac{\cos nx}{n}$
+ 0	$-\frac{\sin nx}{n^2}$

$$= \frac{1}{\pi} \left(-\frac{a \cos nx}{n} + \frac{\sin nx}{n^2} \right)$$

$$= \frac{1}{\pi} \left[\left(-\frac{\pi \pi \cos \pi n}{n} + \frac{\sin \pi n}{n^2} \right) - \left(\frac{\sin 0}{n^2} \right) \right]$$

$$= \frac{1}{\pi} \left(-\frac{\pi \pi}{n} \right) = -\frac{\pi}{n}$$

سری فورييه $f(x) = x^2$ را در بازه $(-\pi, \pi)$ بسازیم. (۲)

$$T = \pi - (-\pi) = 2\pi$$

$$\int_{-a}^a e^{ix} = x \int_{-a}^a$$

$$a_0 = \frac{1}{T} \int_{-\pi}^{\pi} f(x) dx = \frac{1}{2\pi} \int_{-\pi}^{\pi} x^2 dx$$

$$= \frac{1}{2\pi} \times 2 \int_0^{\pi} x^2 dx = \frac{1}{\pi} \left[\frac{x^3}{3} \right]_0^{\pi} = \frac{1}{\pi} \left(\frac{\pi^3}{3} \right) = \frac{\pi^2}{3}$$

$$a_n = \frac{1}{T} \int_{-\pi}^{\pi} f(x) \cos \frac{2\pi n}{T} x dx$$

$$= \frac{1}{2\pi} \int_{-\pi}^{\pi} x^2 \cos \frac{2\pi n}{2\pi} x dx$$

$\downarrow$ $\downarrow$ $\downarrow$
 $\int_0^{\pi}$ $\int_0^{\pi}$
 $+$ $+$
 $\int_0^{\pi}$

$$= \frac{1}{\pi} \int_0^{\pi} x^2 \cos nx dx$$

$$= \frac{Y}{\pi} \left[\frac{a_n^Y \sin n\pi}{n} + \frac{Y a_n \cos n\pi}{n^Y} - Y a_n \frac{\sin n\pi}{n} + \frac{Y}{n^Y} \frac{-\cos n\pi}{n^Y} - 0 \frac{-\sin n\pi}{n^Y} \right]$$

~~cos~~

$$= \frac{Y}{\pi} \left[\left(\frac{\pi^Y \sin n\pi}{n} + \frac{Y \pi^Y \cos n\pi}{n^Y} - Y \frac{\sin n\pi}{n^Y} - \left(-Y \frac{\sin n\pi}{n^Y} \right) \right) \right]$$

$$= \frac{Y}{\pi} \left(\frac{Y \pi^Y (-1)^n}{n^Y} \right) = \frac{Y (-1)^n}{n^Y}$$

$$b_n = \frac{Y}{T} \int_{-T}^T f(x) \sin \frac{Y \pi n}{T} x dx$$

$$= \frac{Y}{\pi} \int_{-T}^T a_n^Y \sin \frac{Y \pi n}{T} x dx = 0$$

$\downarrow \quad \downarrow$
 $\pi \quad \pi$
 $+$ $-$
 $\quad \quad \quad$
 $\quad \quad \quad$

سری فوریه تابع $f(x) = x|x|$ را در بازه $(-\pi, \pi)$ بسازید. ۳

$$T = \pi - (-\pi) = 2\pi$$

$$a_0 = \frac{1}{T} \int_{-\pi}^{\pi} f(x) dx = \frac{1}{2\pi} \int_{-\pi}^{\pi} \underbrace{x|x|}_{\text{فرد}} dx = 0$$

$$\begin{aligned} a_n &= \frac{1}{T} \int_{-\pi}^{\pi} f(x) \cos \frac{n\pi x}{T} dx \\ &= \frac{1}{2\pi} \int_{-\pi}^{\pi} \underbrace{x|x|}_{\text{فرد}} \underbrace{\cos \frac{n\pi x}{2\pi}}_{\text{زوج}} dx = 0 \end{aligned}$$

$$b_n = \frac{1}{T} \int_{-\pi}^{\pi} f(x) \sin \frac{n\pi x}{T} dx$$

$$= \frac{\cancel{y}}{\cancel{y}r} \int_{-r}^r x |x| \frac{\sin \cancel{y} x}{\cancel{y}r} dx$$

$$= \frac{1}{r} \int_{-r}^r \underbrace{x|x|}_{\text{odd}} \underbrace{\sin nx}_{\text{odd}} dx$$

- -
+
even

$$= \frac{1}{r} \times y \int_0^r x |x| \sin nx dx$$

odd

~~xxx~~ →
• r

$$= \frac{1}{r} \times y \int_0^r x \sin nx dx + \frac{y}{n} \sin nx$$

$$= \frac{1}{r} \times y \left[\frac{-x \cos nx}{n} + \frac{y x \sin nx}{n^2} + \frac{y \cos nx}{n^2} \right]_0^r$$

$$= \frac{y}{r} \left[\frac{(-1)^n \cos nr}{n} + \frac{y r \sin nr}{n^2} + \frac{y \cos nr}{n^2} \right]$$

$$\left[\frac{\gamma \cos 0}{h^k} \right]$$

$$= \frac{\gamma}{\pi} \left(\frac{-\pi^{\gamma} (-1)^n}{h} + \frac{\gamma (-1)^n}{h^k} - \frac{\gamma}{h^k} \right)$$